Installation:

@ Lift up the tent onto the rack from car side,
adjust the tent to the roof center, ensuring
the rear door can be opened/closed.

(® Slide the T shape bolts into the rails from
two sides(as P1).

©® Slide T shape bolts into the middle hole of rail,
with U-Shape Stator, M8 Arc Washer, M8 Flat
Washer, and Plastic Nut lightly screwed in
advance.(as P2)

M8 Arc Washer

M8 Flat Washer

(D Screw the other side of U Shaped Stator with
component in order as above, and ensure Stator
tightened(as P3, same operation for rest).

Roof rack

U-shape stator




INCLUDED TOOLS:

P ©l©) QO
N ()0 88

U Shape Stator(4pcs) @ @ @ @

M8 Flat Washer(8pcs) M8 Arc Washer(8pcs)

©98©
TTTT}TTTT

Plastic Nut(8pcs) T shape bolts(8pcs)

TTITITITNTNT

M8*35mm
T shape bolts(8pcs)

- ] —=

Tool Bag 6mm Hex Key(1pc) Cross Screwdriver(1pc)

= C =

—
{——

Aluminum Rivet(2pcs) 8-10mm open end wrench(1pc)  14mm open end wrench(1pc)

-3-

CEN |




